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Function Operations & Compositions

Randy Glasbergen / glasbergen.com
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“It's important to learn math because
someday you might accidentally buy
a phone without a calculator.”



Function Operations

Addition f(x)+g(x)=(f+g)(x)
Subtraction f(x)-g(x)=(f-g)(x)
Multiplication | f(x)g(x)=(/fg)(x)
Division
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ex: Evaluate.
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ex: Evaluate each expression given the functions below.

f(x)=x2’3 g(x)=i/; h(x)=x+5
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Function Compositions

(fog)(x)= -F(g(ﬂ)
(gof)(x)= 9({—‘[*3\




ex: Let
Jx m(x)=x"
g(x)= Ux n
1
x

(x)=x+5
p(x)=x*-10x+25

Find the composition, if possible.
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ex: Let
Jx m(x)=x"
g(x)= Ux n
1
x

(x)=x+5
p(x)=x*-10x+25

Find the composition, if possible.
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h(x)=-lx p(x)=x*-10x+25

Find the composition, if possible.
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ex: Let

(x)=\/; m(x)=x"
(x)={/_ n(x)=x+5
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Find the composition, if possible.
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ex: Let

f(x)=\/;
g(x)=§/;

Find the composition

a)(f,(—tﬁ = VX+5




ex: Let

Find the composntlon

X=X+ QS
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X = 0525~



f(x)= N m(x)=x"
Ux n(x)=x+5

h()c)=l1|f p(x)=x"-10x+25
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Fmd the com posmon

B =/x = X



Find the composition.
X+S

d) (P 7 = (X-f-s‘)" lD(X“I‘S)"’ g’g
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f(.r)=\/; m(x)
g(x)=§/; n(x)=x+5
h()c)=l p(x)=x*-10X+25

Find the composition.

oggm P ()= £=10x <35



ex: Let

Find the composition.
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m(x) = x*

n(x)=x+5

p(x)=x>=10x+25
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ex: Evaluate. ’&

a)(for-jc(cﬂ__,p
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y = g(x)

o (fef)D) O



(=] L < m o~ ~ PP BT LT R <)



3.3_Notes - WKST

d(geg)3) 3

y=f(x)

- o (fo(go ) O

y = g(x)



REVIEW

If f(x)=x2+2x+1and g(x)=3(x+1)’,
which is an equivalent form of f(x)+ g(x)?
A x2+4x+2

B 4x*+2x+4

C 4x*+8x+4

D 10x*+20x+10



REVIEW

Which expression represents f( g(x))
if f(x)=x%—1and g(x)=x+3?

A x3+3x2-x-3

B x2+6x+8
C x+x+2
D x2+8



REVIEW

ex: Simplify.
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REVIEW
ex: Simplify.
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REVIEW

Which is a simplified form of ::_zf’:fc_; ?
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